Manhattan Luxury Report

July 07 - 13, 2025, Residential Contracts \$5M+

YE

-

E

Pe

27

YE .

233

2.

to.

Photo: 115 South Street

The Manhattan luxury real estate market, defined as all properties priced \$5M and above, saw 12 contracts signed this week, made up of 10 condos, and 2 co-ops. The previous week saw 13 deals. For more information or data, please reach out to a Compass agent.



Manhattan Luxury Report

Contracts \$5M+, July 07 - 13, 2025

	Contract S				it 15	th Ave, Ur ⊣ill	825 5 Lenox H			
	Beds 3	-	Sq. Ft.	\$34,750,000	Price	Соор	Туре			
	Baths 4	-	PPSF	\$37,000,000	Initial	219	DOM	X		
Signed	Contract S									
	Beds 4	2,783	Sq. Ft.	\$14,950,000	Price	Condo	Туре			
	Baths 4	\$5,372	PPSF	\$14,950,000	Initial	441	DOM			
bigned	Contract S									
						Yards	Hudson			
	Beds 4	3,848	Sq. Ft.	\$11,975,000	Price	Condo	Туре			
	Baths 4.5	\$3,113	PPSF	\$11,975,000	Initial	-	DOM			
Signed	Contract S									
							Lenox F	T. (
		-	Sq. Ft.		Price	-	Туре	1500		
	Baths 2	-	PPSF	\$10,999,999	Initial	116	DOM			
Signed	Contract S									
							Inono			
	_									
	Baths 3	\$3,608	PPSF	\$9,350,000	Initial	1	DOM			
Signed	Contract S									
	Beds 4	2,858	Sg. Ft.	\$8,300.000	Price	Condo	Туре			
	Baths 4.5	\$2,905	PPSF	\$8,300,000	Initial	-	DOM			
Sigr	Beds 3 Baths 2 Contract S Beds 3 Baths 3 Contract S Beds 4	- - 2,592 \$3,608 2,858 \$2,905	PPSF Sq. Ft. PPSF Sq. Ft.	\$8,300,000	Price Initial Price Initial t, Unit 26 Price	ark Ave, U Hill Coop 116 nd St, Unit Condo 1 ast 77th S East Side Condo -	Lenox F Type DOM 41 Bor Noho Type DOM 255 E Upper E			

Compass is a licensed real estate broker and abides by Equal Housing Opportunity laws. All material presented herein is intended for informational purposes only. Information is compiled from sources deemed reliable but is subject to errors, omissions, changes in price, condition, sale, or withdrawal without notice. No statement is made as to the accuracy of any description. All measurements and square footages are approximate. This is not intended to solicity property already listed. Nothing herein shall be construed as legal, accounting or other profesional advice outside the realm of real estate brokerage.

© 2025 Compass. This report and information provided in this report are proprietary to Compass and may not be sold, used or reprinted, in whole or part, without the prior written consent in each instance of Compass. Data is subject to revision. Sourced from Compass proprietary database. All rights reserved.

Manhattan Luxury Report

Contracts \$5M+, July 07 - 13, 2025

	200 E Upper E Type DOM	ast 83rd St ast Side Condo 89	rice	4C \$7,995,000 \$8,500,000	Sq. Ft. PPSF	2,123 \$3,766	Contract Signed Beds 3 Baths 3
		v erside Bou Vest Side Condo 34	l levard, Price Initial	Unit 38CD \$6,999,999 \$6,999,999	Sq. Ft. PPSF	3,585 \$1,953	Contract Signed Beds 5 Baths 5.5
÷.	126 Ed Upper E Type DOM	ast 86th St, ast Side Condo 3	, Unit 18 , Price Initial	A \$6,995,000 \$6,995,000	Sq. Ft. PPSF	2,762 \$2,533	Contract SignedBeds3Baths3.5
		est 11th St, ch Village Condo 40	Unit 14 Price Initial	D \$6,795,000 \$6,795,000	Sq. Ft. PPSF	1,515 \$4,486	Contract Signed Beds 2 Baths 2
	106 Ce Midtowr Type DOM	Condo 813	South, Price Initial	Unit 15A \$6,595,000 \$7,800,000	Sq. Ft. PPSF	2,835 \$2,326	Contract Signed Beds 3 Baths 4
		e st 13th St, ch Village Condo 69	Unit 9B Price Initial	\$5,200,000 \$5,200,000	Sq. Ft. PPSF	2,841 \$1,831	Contract Signed Beds 3 Baths 3

Compass is a licensed real estate broker and abides by Equal Housing Opportunity laws. All material presented herein is intended for informational purposes only. Information is compiled from sources deemed reliable but is subject to errors, omissions, changes in price, condition, sale, or withdrawal without notice. No statement is made as to the accuracy of any description. All measurements and square footages are approximate. This is not intended to solicity property already listed. Nothing herein shall be construed as legal, accounting or other profesional advice outside the realm of real estate brokerage.

© 2025 Compass. This report and information provided in this report are proprietary to Compass and may not be sold, used or reprinted, in whole or part, without the prior written consent in each instance of Compass. Data is subject to revision. Sourced from Compass proprietary database. All rights reserved.